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(A) Ashokbhai of Ahmedabad consigned 300 bicycles to Rasikbhai of Rajkot on -

01/10/18. The cost price was ? 1 260 p‘er bicycle, but the proforma invoice was
made out at a figure so as to show a proﬁt of 25% on mvmce price. ; 14
On the same day, Ashokbhm mcurred the followmg expenses

Camage 1,000 ~

Freight ¥ 1,500

Insurance Premium X 5, 000 <

On the same day, Ra51kbha1 sent a bank draft for T 2,47,350.

On 31/03/19 Rasﬂ(bhal sent at account sale and a bank. draft for the amount
payable.

He reported in the account sale that —
(1) He sold 150 bicycles at % 1,850 cach fot cash. |
(2) He sold 80 bicycles ot % 2,000 eaoh to Raman on c’redit.' :
(3) He sold 40 bicycles at ¥ 1,900 each to Ashwin on the recommendation and
" responsibility of Ashokbhai. ‘ | ' :
(4) Rasikbhai paid the foilowing g){ponsﬁs :
Octroi 34,500 :
Carriage % 1,500
‘Selling expenses T 875

A(5) Raman and Ashwin became bankrupt and 60% could be recelved from

~ them.

9 : ' " _ P.T.O.




(B) Select correct answer for the: followmg sub

NG-101

: ‘ ission,
(6) Rasikbhai is entitled to.receive a comm

(1)

(2)

(1)

@

o 5% on sales'and 2%.(1Q

credere commission on credit sale.
From tbe above information prepare :
In the books of Ashokbhai

‘(@) Consignment _Account

(b) Consignee’s (Rasikbhai’s) Account
. OR

1000 calculators at T 300 to Shap, -
Citizen Company of Mumbai consigned 1000 calculato

20,000 for frelght
and Brothers of Ahmedabad. Citizen Company Pald g |
< 2,000 for wages and < 1 000 for i insurance. 3

Compan
100 calculators were destroyed by fire in transit and the Insurance ;) hy
accepted a claim' of ¥. 15 ,000 only. Cons1gnee took dehvery of the

| 'remammg calculators and paid ¥18,000 for custom duties. The consignee

accepted a bill of ¥ 1,00,000 drawn by the conSIgnor fOI' 3 months

The consignee sent an Account sale after somet1me stating that he has sold ;

800 calculators at ¥ 500 each. He had paid ¥ 5,600 for advert1sement and

other sellmg expenses. The consignee is entltled toa commlsslon of 5% on
'oross sales proceeds. '

Prepare con31gnment Account in the books of cons1gnor

Explaln dlfference between con31gnment and sale. -

-questions : (Any Four)‘ »

Del-credere comm1ss1on 18 calculated on b
(a)

Creditsales - (b) Cash sales

(c) Total sales j (d) Cost of Goods sold -

‘ is recurring expense.
(@) Advertisement Expense

()  Insurance on Goods sent

2 A Alicrih.

(¢) Goods clearing charges



)

The relation between consignor and consignee is of
(@)  Principal and Agent -

(®) Debtor and Creditor
(¢)  Seller and Purchaser

(d) All of these

@ ssion is not g
) When del crederc‘e comfmssmn 15 not given and there is a bad debt for credit
~Sales, ~ isdebited in the books of consignee.
(@) Consignor’s Alc (®) Consignment A/c
() Debtors Alc (d) Bad Debt Reserve Alc
(S) . commission is paid on the goods purchased by the consignee
himself.
(@) Normal commission (b) Additional commission
(¢) Del credere commission  (d) Normal and Del credere commission
(©6)

The abnormal loss of ¥ 1,00,000 occured in consignment business, the
Insurance company accepted 60% claim. The abnormal loss is ¥

@) 40,000 (b) 50,000
(c)  1,00,000 d) 1,60,000

(A) Prayas Traders of Porbandar has a independent branch af Navsari. The Trial
Balance of the branch as on 31/12/2018 is as under :

14
Debit Balance | ¥ | _Cfedit B:ilance T

‘Debtors . 80,000 | Head Office A/c 1,09,000
Stock (1/1/18) 30,000 | Creditors | 45000
Purchases | 12,00,000 | Sale | 3,00000
|RentTaxes | 25000 |Commission | 6000
Salary : 40,000 |

| Office Expenses 17,000

Bank Balance : _ 18,000

Fixed Assets 50,000 .

;P 4,60,000 - | 40000 |

- 1
01 .



Additional Information :

(B)
(1) Stock at branch on 31/12/18 was 2 40,000. ok Heag .
G e s of He :
(2)  The fumniture A/c of a branch is. maintained in the b(;‘(ih b anc:li1 i
: : : : e branch,
X 4,000 is written off as depreciation on the furniture 0 .
() Head office had sent goods worth 25,000 to the branch which i p,,
received by branch upto 31/12/18. Fo ;
(4)  The cash remittance of ¥ 20,000 by Branch to Head office on 28/12/18 Wag
received by the Head office on 2/1/19. S
From the above particular, prepare final ‘Accounts of 2018 in the books of th,
branch. :
~ OR
(1) In the books of a Company, the following Branch Account was prepared for
the year ended on 31/03/19. Prepare Branch Trading and Profit and Loss
Accounts, :
Dr. Branch Account % IS Cr.
Particulars : 51 Particulars e
To Balance b/d (1/4/ 18) By Goods returned to
Stock 80,000 Branch A/c | 40,000
Cash 4,000 By Cash A/c 3,200
Petty cash 290 ‘ (Sundry Incomes) |
" Furniture | 12,000 96,200 | By Cash (Sales) . 5,50,000
. , | Goods sent to Branch A/c_| 4,80,000 By Balance ¢/d (31/3/19) - |
| To Cash A/c (Petty Cash) 300 Stock 64,000
To Cash A/c (Expenses) | Cash e 4,000
Wages ! 800 Petty Cash 100 .
| | Salary 12,000 » Furniture 11,000» 79,100
| - Rent 6,000 : :
| - Advertisement 2,000 | 20,800
To Profit transferred . _
| ’ to General P & L A/c 75,000
| : ['6,72,300 6,72,300
2 Exp[ain difference .bétween Dependent Branch and Independent Branch.
NG-101 '
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B) Select correct ansWer for the following sub-.questions : (Any Four)

(1)

NG-101

)

- (© 711,000
L G

(4)

®)

)

OF Indépendent Branch

Under the Stock and Debtors system, Branch A/c is treated as

(@) . Personal Account -
(b) Nominal Account
() Real Account

(d) Joint Account

Head ofﬁcé sent ¥ 10,000 as Petty cash to its branch during the yeér. |
Opening and closing balance of petty cash was % 3,000 and T 2,000
respecﬁvely. The petty cash expenses of the branch during the year will be

.
ey

(@ 10,000 (b) 12,000

T (@) 13,000

For ﬁndiﬁg out the amount of sundry expenses paid by the ‘branch,
____account should be prepared.

(@) Debtors Alc

(®) Creditors A/c -
(c) Petty cash A/c (d) 'Computer‘ Alc

_ accbunt is 10 be credited by branch for cash in transit.
(2) - Branch A/c (b) CashAl . -
(©)  Head Office Ale (d) BankAle

‘ prepares its own separate Final Acpounté.
(@) Foreign Branch

(B) Dependent Branch

‘ ge of profit will be on Invoice
price ? X
@) . 75% : ® 60%
© 331% LG 100%
13
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(A) Vinodbhai of Vadodara entered into a joint venture with Man‘ubhal.of MOrabi
sell Washiﬁg Macin‘ne and to share profit or loss in the p;opor‘tlon of 2 :
Vinodbhai contributed % 3,60,000 and Manubhai contributed ¥ 6,09,000 t°Wa;(
the venture with which a Joint Banking Account was operied.

Vinodbhai bought 10 Washing Machines at ¥ 30,000 each and paid for they, fiy,
the Joint Banking Account. Custom charges and insurance premium ¥ 1,500 y

< 4,500 respectively were paid by Vinodbhai from his private cash, ‘ |
Ma;nubhai bought 7 Washing Machines at 2 25,000 each, the price of whgy, Wy
paid from the Joint Banking Account, The whole lot (except 2 Washing Machjnq
which were damaged in transit) was sold at a price of ¥ 40,000 each.
Manubhai spent % 1,000 for each 'of the two dam
repairs and paid for them from his'
Manubhai at ¥ 29,000 éach,

aged Washing machineg for ..
private ca.sh.' They Were finally solq by

Prepare Joint Venture Account, Joint Banking Account and Partner’s Accounts

OR

following transactions took place :

(1) X purchased goods of z 6,00,000 and

paid freight and other expenses
. %40,000, ° e

(i) v supplied goods of ?2,00,(_)00 from his stock and paid ¥ 6,000 for.

carriage.

(i) Y sold some of the goods for 2 6,50,000 allowing sales commission
- of 16,000, G

- (lv) X Paid storage and other eXpenses ¢ 8,000.

) X sold the remaining goods for 2 3,50,000

and paid ¥ 30,000 for 4
Commission and carriage, ' :

Prepare (i) Joint Venture Account ang (i) Y°s Account in the books of X.

(2) Explain difference between Joint Venture ang Pattnership,

© NG-101 14




B) Select correct answer for the followmg sub-questions : (Any Three)

D) 1 which of the following busmesses Joint venture can be possible ?
(@) Daily Newspaper
(b) Run a fast-food stall in a festival fair
(¢) Medical shop
(d)  None of these

@) X and Y entered into Joint Venture. X gives ¥ 60,000 to Y. To which
Account the transaction will be recorded in the books of X ?
(@)  Joint Venture Account (b) Y’s Account
- ()  Expense Account (d) None of these
(3)  Joint Venture Account is similar to which option ?
: (@)  Similar to only Trading Account - .
+(®)  Similar to mixture of Trading and Profit and Loss Account
(¢)  Similar to only Profit and Loss Account
= () Similar to only Balance Sheet |
(e Bonds of ¥ 10,00,000 are ‘received against work done in Joint Venture
- business and they are sold for T 7 00 000 then what amount is recorded on
 the debit side of Joint Venture Account 2
(@) T4,00000 “(b) . 3,00,000
(¢) ¥7,00,000 - @ z 10 00 ,000
)

Which act applies to the J 01nt Venture Busmess ‘?
(@)  Companies Act, 1956
(b) No p_art1cular law .

(c) Partnership Act, 1932
(d)

. Co-operative Societies Act

) Cldifyuiliged limitations of computers in Accountmg'. o 14
' ’ OR . i
) Feln iferepee s between Accountmg Information SYStem and
o Management Information system. o
(2) Explain components of computer - 7 -
NG-101 -
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| N Three)
correct answer for the following sub-questions - (Any )

Ject .
(B) (S; o far following VerSiOns of Tally haye been put 1nt0 market.
@ S463T29ERPg () 540,611,723
© AL B2, C3 (d) None of these -
o key is used to know information of Balance Sheet and Profit ay
‘Loss Alc. l
) Alt+D (d Alt+R . me
(_3)' Which of the following is a part 6f CPU 2
® Iéey Board (b) VOutput Unit
,_ .ontrol Unj :
()  Control Unit (@) Nons of these
4 H * . x
¢ ;r};e f.Qll?lqv’nng K8y s wsed to change Date in Tally.
a) F11 R
() Fé6
) F2 .
! (d) Fs
(5). InTally, which ey is used for Journa] 2
(@ Fs -
(b) Fé6
(c) F8
d) F7

NG-19
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&

[Max, May

; i s f3:2:1 respectjy,
1. (A) Prarthana, Marmik and Karan are partners in the ratio O PeCtive)

They dissolve their firm on 15“July 2019. On

that date the Balance-Shegt -

under : S
Liabilities 'z Assets S
Capital : " |'Land and Building - | 1,00,000
Prarthana : 68,000 Stock - | 60,000
Marmik : 32,000 Debtors 72,000
Karan : 4,000 |1,04,000| Cash 16,000
Géneral Reserve 24,000
Prarthana’s loan 24,000
Marmik’s loan 16,000
Creditors 80,000
L 2,48,000 2,48,000

Other Information : |

Instalment Net Realizétion Amt. (%)

1t 44,000
god 42,000
30 64,000
A 42,400
5th 18,000
- You are required to prepare Piecemeal Distri
Surplus Capital Method., :
OR

ND-104

bution Statement according to -



(A)

(B)

ND-104

(1)

M, K
of 5 . A R are partners in a firm With the share in profits and losses in proportion
%r Balance-Sheet disclosed the following position on 30-06- 2019.

: Ca‘\Llabﬂmes 3 Assets | X
Pital : 1,00,000 | Machinery 1,00,000
x0T 1,10,000 | Stock 1,00,000
R 60,000 | Debtors 50,000
Furniture 20,000

B 2,70,000 2,70,000

F‘l;he firm was dissolved on 1% July 2019 and it was decided to distribute cash and
*11 available on realization of assets.

14

, Assets realized as follows :

3

15" July 2019 60,000

28" July 2019 1,20,000
- 15" August 2019 30,000

All the assets were disposed off and the books were closed Show the distribution
of cash among partners by Maximum loss method.

Select the appropriate answer from alternatives given. (any four) 4
According to Surplus Capital Method in Piecemeal distribution, Final
~ deficit of each partner will be in the ratio of
(A) Profit & Loss (B) Capital
(C) Current Asset (D) None of these

(2) In Piecemeal distribution of cash, the credit balance of Profit & Loss
account is ‘
(A)
(B)
©
- O

added in Partner’s Capital A/c. .

deducted from Partner’s Capital A/c.

should not be distributed

deducted from cash

(3) Amount reserved for dissolution expenses will be subtracted from the
instalment.

(A) First

] (B) Second
(C) . Third

(D) Last

@ P Q and R are partners sharing.profits and losses in the ratioof S : 4: 1. If

the capital of partner P Q and R are T 50, 000 Z 80,000 and ? 15,000

respectively, then should be cons1dered as base. :

(A) P’s Capital _ (B) Q'sCapital

©) - R’s Capital - (D) None of these
9 e

P.T.O.




2. (A)

(A)

~ ND-104

artners’ loap
‘tributed betw 4
lbe d g e N (B

(5) If the instalment is not sufficient {0
distribution of cash, then the cash Wi
in_- o ;

{(A) Loan Ratio

(C)_ Profit & Loss Ratio

(6) _ is the correct seque
Partnership firm. L
(A) Secured loan-Creditors-Partner’s loan.
(B) Creditor-Secured loan-Partner’s lf)an-
(C) Partner’s loan-Secured loan-Creditor.
(D) Partner’s loan-Creditor-Secured loan.

(B) Capital Ratio
(D) None of these
nce of payment of dues on dissojy,

The Nishant Ltd, issued 20,000 Equity Shares. of < 100 each at a premiup, of
Amount called up per share is as under :

On Application ~ % 50

On Allotment - X 20 . -

On first and final call ¥ 50 (with premium) vores. '
Applications were received for 50,000 shares. Out of which 2/5 share applica;
were rejected fully and pro-rata allotment was made to the Iemajy
applications. Excess application money were kept by the company as alloty
money and calls in advance. . - o :

Nitesh who had beep allotted 400 equity share could not pay first and final call
his allotted shares, His shares were forfeited. Half of the shares forfeited were,
1issued at T 80 per share as fully paid-up. e .

Write necessary Journal Entries in the books of the Nishant Ltd. -

: ! " OR : J i

Janak Ltd. was incorporated on 01-04-2018 to purchase a running business of
firm from 01-01-2018. From the information given below for the year ending (
31-12-20 18 determine profit prior to incorporation and Post incorporation.

The total sales of the year ending on 31-12-2018 is ¥ 15,00,000 out (
which sales from 01-01-2018 to 1-4-2018 amounted to ¥ 3,00,000. Gross profiti
40% of sales. , ; Sk ;

Other Information :

: (4
Rent A 80,000
Salaries of Employees 1,20,000
Interest on Debentures 45,000
General expenses 32,000
Auditfees =~ . 20,000 .
Director’s fees . 25,000
Formation expenses 22,000
Sales Commission 45,000

10



B) S

(1)

elect the g

Ppropriate answer from alternatives given (any four).

inimum Amount reﬁuired to call on application is
Company Act, 2013.

(A)  10% of face value
(©) 2% of face value

as per

(B) 5% of face value
(D) None of these_

When shares are forfeited, then the amount called up on forfeited shares is

. debited to Alc.

0))
d 3)
\ )
4
X
X
&
'f; (6)
Ql
|
0
:is!
|
3@ 0
(i)
ND-104

(A)  Share allotment

(B) Share Capital
(©) Capital Reserve

(D) Share Forfeited

The annual interest on calls-in-advance as per Table-F should be as
per Companies Act, 2013.

(A) 5% (B) 12%

©) 10% D) 2%

is included in the issued and paid up share capital.
(A) Buy-Back of Shares (B) . Sweat Equity Shares

- (C) Potential Equity Shares (D) None of these

Profit of Pre-incorporation period is called
(A) Capital loss

(C) Revenue profit

(B) Capital profit
(D) None of these

Salesmen’s Commission is divided in profit prior to incorporation according
to : - » - '

(A) Time Ratio
(B) Turnover ratio

(C) Prior to incorporation period
(D) Post incorporation period

Dev Ltd. purchased the business of R.K. Brothers. Purchase consideration
was paid by 4,80,000 Equity shares of ¥ 10 each at 25% premium. Capital
Reserve arrived at T 2,40,000. If the value of total liabilities taken over was .
¥ 12,00,000, then what would be the value of total assets taken over ? Write
the journal entries in the books of purchasing company.' : ;
Write note on : “Vendor’s Suspense Account”

OR

1




‘ ril 2
(A) X Ltd. was formed on 1% AP

G c.apital of 3 25
«th an au each an ,50,000 (£
0193 ‘;;fgres of ¥ I\}I(/)S- Radha-Dhary_ §

ferenc 0 Ly -
divided into 1,00,000 10% PrE€E 5 conce® " on that day

Shares of Z 10 each to acquire the 8

as L
he firm was . — ‘
The Balance - Sheet O;aﬂllance-Sheet Assets ‘ [;55 -
] —/’/(‘ﬂ;{g——_—— ’ ,0(
Liabilities S Land and Bullalinery ‘ ,3’50,0(
?apital . Plan{ & Ma(ii Fittings 50,00
Radha : 7,50,008 12.50,000 | Furniture a0 LS50,
. DharaF ; dmg_o_ 1.50,000 Pateits | 4004
Creditors Debtors 000 2,45
B.D. Reserve _:000 o
Cash and Bank Balance ?333;‘,‘,
1500000] k

ice in 1,00,000 equity shares of
The Company agreed to pay the purchase price ;%}i.g(?éach.elghe balance of
each fully paid and 66,000 Preference Shares qd o the excepg
kinds of shares was issued to the public and paid for D e .

| id.
of 5000 equity shares on which 2 3 per share was not pat

Balance-Sheet of the company.

‘ ions and pre are |
Give journal entries to record the above transactions 9 Prepare

(B) State the appropriate answer from the alternatives given. (any three)

€9

)

(3)

@

(5)

(&) Capital Resesye

in the p
““the 'following formula

o1 & purchaser bears the firm’s dissolution expenses, ':th.en,the same
debitedto account in the books of purchasef-

(A)  Goodwill (B) - Share Capital | T

(C) Vendor’s A/, (D) Dissolution'fexpenses ks

0
———

(B) Gobdwill

(C©) Purchase Price - (D) None of these ‘ a5
While Calculating the purchase price, the number. of Shares :igéued by th
purchasing company is calculated at their Jdin Gt T
(A) Market price (B) Discounte,d price
(C) Face valye (D) None of these |
When old Bad-debts are Tecovered, it is crediteq L. - account jn .the‘
books of Purchasing company, ‘ o
(A) Vendors Suspense (B) Bad-Dept Recovej:y _
(©)  Vendor’s Creditors ’ D)  Vendors Debtors
The value of goodwill is foun.d out: urchase of busine'ss by applying
(A) Purchase Price - Net Assets (B) Net Assets _po - :

e S ~ Purchage Price
© Purchase Price Total Assets '(D.)_ Tota] Aggets PUrchase Price
2 &



& lgrolm the following balances of Mudhuvan Ltd. as on 31-12-2018, prepare their

alance Sheet as per schedule — III of the Companies Act, 2013. 14
Particulars Amount (%)
L Loose tools 16,300
. Computer software : 8,325
3. Advertisement Suspense A/c 3,000
4. Accrued interest on investment 5,100
3. Office equipments 48,060
6. Equity Share Capital 1,50,000
7. 8% Preference Share Capital 55,000
8. Bills payable- 2,850
9. Creditors of expenses 3,600 -
10.  Provision for taxation 2,655
11.  Machinery ~1,80,000
12, 12% Investment in G.M. Ltd. 24,500
13.  Stores and Spare-parts 10,020
14. Cash in Bank . 2,300
15. Debtors ’ 19,000
16. Mortgage loan : 31,0_00'
17. General Reserve 41,500
18. Creditors , ,14,000
19." Cash-Credit ; 7,500
20. Staff Welfare Fund : 8,500
' 1 TOR ' o
(A) (i) From the following informations, prepare Profit and Loss Statement as per
' the Part-1I of Schedule — III of the Companies Act, 2003 : o
5 Particulars : Amount (%) ’
1. Revenue from business operations 1,30,000 :
2. Employee benefit expenses 22,§Q0
3.  Depreciation and Amortisation of Assets 7,500
4.  Consumption of Raw materials - 50,000
5. Other incomes : - 7,000
6.  Finance Costs . L 3,000
7. Other expenses . 9,250
§.  Changes in value of stock . (7750)
9, TaxRate / 50%

(i) Give four items shown under the head" ‘contingent .liabilities and
commitments’ in annual statements of companies. = ST

ND-104 | ; B | - PTO.




, IternatiV
(B) Select the appropriate ATSC {0l ?he ; nin
remium Account is shown 1f

(1)

)

3)

4)

)

Securities P

of

(A) Share Capital

(C) Reserve and Surplus

meetings.

(A) Proposed

(C) Interim °

(B)

B)
(D)

Dividends are usually paid on

(A) Authorised
© Paid-up

(B)
(D)

t

Curre

Final

Unpaid

capital.
Issued
Reserve

Cbrporate dividend tax is computed on

- (A)  Profit after tay -
© Proposed. dividend

The company has 1,00,000 e

then interim dividend
(A) 80,000 . -
(©). 56,000

B)
o®)

E

- 14

quity shares of Z 10 each
Payable at 8% wil] pe 7 |

70,000

%
4

es given (any three),
he Bajan"ce-Sheet Undey th

ot Liabilities
| iabilities
Current Lia
(D):: Nosee

1 | two anny
dividend declared by the directors between VO annug| g

ne:

(

(B) Incometax
(D) Proﬁt.before tax

. ¥ 7 per share paid-y

N(jne of thes_e_7 0
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| 0-5| 6000 300 | 7000 315
| 5-15] 30000 480 | 40000 720
| 15-45| 44000 | 440 [35000 | 455
| 45-60| 16000 352 | 12000 240 |
| >60| 4000 100 | 6000 790
‘ < Yl

3




‘(1)

| @4 Rl well CBR, GFR, SFR il TFR ¥l

5l

35-39 | 40-44 | 45-49
G 15-19 | 20.24 | 25-29 | 30-34 | 35-39 e
Aol 2ival | 32000 | 30000 | 28000 | 26000 | 24000 s
wRav-Hdvul | 960 | 3600 | 4340| 2600| 1800 | |
| (g Rell =7 @y
@ AR MR y=ell CDR 243 SDR s -
‘ . AR A | AR B
SRl SoRML
95 il 40 8 24
D) ) 18 24 12
> 50 5 44 p =

®) ARl 2R A 3t o ) ;
' A AR U Uoyeirieye]] 2|21

®

62,125, 85, 66, 25947 5 8. 2L WRdl =

25 U gl <l 50 SR & 4
o geBeau Q8

(i)

(i)
(@iv)

138

TFR = 2000 - 2t2lele- 53, »
A AR AL -2ER el AU Uy €2 52l §gy

(a) A
©) - A

(b ay

—

(d) Assy sél's\ism R

YEL YEL LU U2 Ui € g 10, |
4l AR Moy t-1gR Q4. :
815 ¥ €3 ¢ 25 QIS

AU B, AY
He AY €3 A A, - -
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SE-101 (B) : Statistics

jme ¢ 2: '
ime : 2:30 HOurs] [Max. Marks : 70

istructiong .
=) Figures on right shows marks.

(2)  Simple calculator is allowed.

(a) (1) What is meant by probable error 9 Write its formula and state its any one
use. ; ' ' :

Find the value of rif n = 10, &x = 30, Zy = 50, Zxy = 180, 5, =2 and S, =3. 7

(2)  Find the correlation coefficient fr&m thelf0110wing data: 7
v x | 0-10 | 10-20 | 20-30
A = e -
6o i Sl | |
7 - 3 -
g 1

» OR
(1) What is meant by association of attributes ? Give one example of each,
positive and negative association. - '

The following infor:nation is obtained for studying the association between -
permanent job and stress in life. Out of total 500 people 300 have
permanent job and of them 100 people are stressed. Out of total number of

people, 250 people are having stress in their life. Find the coefficient of
- association between permanent job and having stress. 7

(2) Find rank correlation coefficient from the following data : 7
x |25 |60 |80 |60 [45 |50
y 140 90 |65 |90 |65 |90 .




(b) Answer the following questions (any four) Gx+ 2) and 5y =7), 1=

(b)

NE_-138

(1)
(ii)

(1ii)

(iv)

(v)
(vi)

1)
2

(1)

(2

Calculate any two 'froﬁl the following :

@
(i)

(iif)

if the S.D. of x is 2.

e
Between x and y, r = 0.67 then betwe 0.33

(@) 0.33 ) p

(c) 0.67 @ = 0. thod of rank correlationg _. ¥

F or each pair of the observations in the M° S

then r= ;

@ -1 (b) 35

c 0 o d) 2 !

Find the value of (AB) if the (attributes A and B are independen; and‘

N =500, (A) = 50, (B) = 150. - . ‘

If all the Igoi)rxts are (on) one slating line in 3 scatter diagram then the vajye of|

correlation coefficientis _____— ' ' |

(@) Only1 (b) Only-1

() =1 @ 0 ' ‘ :
ncy table (oB) = 70 and (o) = 50, |

In usual notations, for a 2 X 2 contingeé
Check whether this data is consistent or not.
Give one illustration of perfect positive COTe

ent 7 Write any five properties of it.

lation.

‘What is meant by a regression coeffici
Find the equations of both the regression lines from the following data :

x (120 |90 [80 [150
'y |40 36 40 (44

OR _ : :

The equations of regression lines are 3x + 2y —60 = 0 and 6x +y - 75 =0.

Find the means of x-and y, and the correlation coefficient. Find the S.D of y

Estimate x for y = 50 and estimate y for x = 90.

X Y
Mean 100 | 40
S.D. . S 2
‘Correlation coefficient = 0.8

Find - the regr'ession coefficient if the regression line of x on Y is

3x-5y+12=0.
The regression line of y on x line is 2x + 3y — 41 = 0 and 5 = 10. Find the

value of y. .
When both the regression lines are coincide thep I =

erpendicular to each other thenr= |

6

and when th°

lines are p



hat . . :
(2) o 1S meant by Business Forecasting ? State its uses. 7
1 ¢ .
or N second degree parabolic trend from the following data and forecast

Ythe year 1996, 7
tg 1991 | 1992 | 1993 | 1994 | 1995
ales (inlakhz) | 12 | 9 | 10 | 15 | 24 |

(1) OR

B . : ; o
£ Y taking o = 0.4 and initial forecasting as 100, find forecasts for the
Onowi“g years. s

i Year 2001 | 2002 | 2003 | 2004 | 2005
: Production | 120 | 132 | 145 | 161 | 186

oz

Q : ~
E : ) : Islotlagn equation of linear trend to the following data and forecast for the year
Year 008 12010 | 2012 | 2014 2016 | 2018 |
Profit (crores ¥) | 120 | 132 | 144 | 156 | 168 | 180 |
|
) ?)nswer any three of the following : 3
; .

- The equation of a linear trend y = 10 + 3x, where y = production and

Year —2 : i
x= (“__ar I 015). Find the forecast of the production of year 2020.

(i) In usual notations S, = 105, S;=112and S, = 120, find the value of AS,.
(iii) . For fitting of a linear trend of five years data, in usual notations Zx = 0 and

> Xy = 70 then find the value of the constant term ‘a’ of the linear trend.
(iv) State the main limitation of graphical method of business forecasting.

(a) (1) Explain crude death rate and standardized death rate. The total population
of a city is 22 lakhs and the ratio of males and females is 6:5. Of total
females 60% of them are in child bearing age group. Find the crude birth

rate if the general fertility rate of the city is 30. A 7/
(2) Which city is healthier from the following : Gl o
CityA City B |
ABE Population | Deaths | Population | Deaths
0-5 6000 | 300 |- 7000 | 315
5_15| 30000 | 480 | 40000 .| 720 |
T 15-45| 44000 | 440 35000. | 455
T 45-60| 16000 | 352 12000 | 240
;;60 4000 | 100 6000 90
OR _ | :
7 S G




e OIONIE 55

(1) Find CBR, GFR, SFR‘and'T_F_l? % jﬂ ’3?03’096 ;g% TN -;;
I L Taaeo | M0 0]
females : R R00 | 550 | ¢
No.of live | 960| 3600 | 4340 o | ol |

: binhs ____.-'-/"ZTot'al Population = 7 lakhs) -}

\

' . lOWM
(2), Find CDR and SDR from r.he‘fgl__T City B

CityA G
Age | Populatioi)l' Death Population 'I:::::
: (in thousand) | Rate Wzs— =
- . A 24 12
5-25 40 18
25-50 0l 13 4_________,10 A8
>50 sl 4t Bl & 50

~ (b) Answer any three from the following : . : | .
(i) The fertility rates of different age groups in fertility period for women of a |
-city are 10, 62, 125, 85, 66, 25 and 5. Find the general fertil_ity rate.
(ii) The total population of a city is 50 thousand and in an year 25 people were
died from every thousand people. Find the total number. of deaths in the

year. ‘g
(iii) Interpret TFR = 2000. .
(iv) The crude birth rate of a city is always _____ its general fertility rate.
(2) lessthan st ol ©) ‘rriore_ than '
(c¢) equal ' (d) ~¢ari’t said any Speciﬁc

NE-138 Cro 8
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(B)

LN

(B)

help of dtagrams

@) Substltl'ltlon effect1 always ne;
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November-2019 .
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R e : 2 30 (New SyllabuS)
- Hours] \ [Max. Marks : 70
InStmcﬁOns o '
| (l) Answer the following questions.
Q) Questionwise marks indicated at the right side.
(A) ; | {5518 | agtusih fiw niklae® By
. .ExPlam the law of diminishing marginal utility in detail. ! 14

OR v ; |
Derive the law of demand on the basis of law of equi-‘ma'rgina'l utility.

Iy

w4
AL

State whether the followmg statements are true or false et '- : ,, 4
() A rational consumer a1ms at maximizing utility. ’

(i) ‘When MU is zero, TU is maximum.

R 1 e Dy

= ‘!_«- by s \1}

(iif) A consumer is in equilibrium when price hne cuts MU curve.

(iv) Utility means pleasure only. L g

Define an indifference curve and discuss its characteristics, © LA v

N

Explain the concept of i income effect substrtuuon effect and pnce effect wrth the l‘ %;

State whether the followmg statements are true or false : . ;
@) Indifference curve analysis is based on ordmal utility
(-') Marshall developed the conccpt of cardinal ut
(i ) pnce hne is negatwely loped




. ous tYPES of price elasticity
‘ . s ‘ |
3. (A) What is price elasticity of demand ? Discuss _ )
of demand.

OR | ¢ geman d

Explain the meaning and types of income elasticity
¢ : Ise: =
(B) State whether the following statements are true Of 2 gcurve is parallel Y gy
(i) When price el_asticity of demand Ed =0, the deman! ; e

‘ .« positive and greater thap
(i)  For luxury good, income elasticity of demand 1? 2 rice of the progd 4
. { H (<} uct i |
(iti) Firm’s total revenue will increase with the fall 12 e i |
E;>1. ‘ |

4. (A) Explain with diagrams the law of variable proportion. 14
: OR ' '
Explain the meaning, characteristics and types of production function.

Pan

(B) State whether the following statements are true or false : '
(i) Production function shows relation between factor amount and output.
(i) Returns to scale emerge in the long-run.
(iii) In economics, short-run refer to all factors are variable.

NA-105
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write the folloy, Wing . T Gl s ol
M Explam the functions ' ;
of Human resource management and its objectrves 14 |
@) DlScuss i e : Loy
(i) Bl the factors affectmg Human Resource Planning. | ‘
€ importance of Human Resource Planmng _ 7
. (B) Multrple Chorce Questrons (any four out of ﬁve) 0 4
() HRM s a phrlosophy | o
(@) old - ok modem
© rigid . ~ (d) curative i L
2) is the first stage of human resource planning.
(a) Collectmg data A S ®) Forecastmg manpower demand ;
Nl Determiriing the goal -~ (d) None of these T i
(3) Which one of the followrng is'not a role of human resource manager 2
(@) Counsellor . (b) Mediator -
«e) Self-rmprovement . (d) Spokesman G e

(49) Which one of the followmg is not mtema.l factor affectmg human resources

planning ? ' | ;
Ad) Social () Sizeof busmess
(c) Productron cost ' (d) Fmancral resource

(5) Appointing new employees in place of old em]!’jf ,
orgamzatron is referred to as. |

(a) Abserrteelsm
() ~ Promotion

17




t

B

2.  Write the following : o
(A) stcuss the recrmtment procedure and'its advant2®
OR ‘
(1) Explain the procedure of training.

ent.
(i) Explain needs of human resource developm!

e

B) Mllltlple Choice Questions, (any four out Qf five)

- (1) is the first stage of selecnon according 0 RIChaId Uhrprmh
“@)  Interview (b) Pffhm!nary i
.__(c)/Reception of applicant c/ﬁacement :

() | is an act of i increasing the knOWk"’:lge gndskiliofa worker for
doing acertamjob : _ T
=(@~ Selection ! by Training
ey Recruitment qdy Plaéenient
(3) The scope of training is -
@/ wide oy broad ;
)" limited t <¢dj . none of these

(4)  Which one is not technique of human resource development ?
=¢@)  Performance appraisal @5} Potential appraisal e s
Mareer -development ’ '(d/ None of these ,

(5) Which one is not method of external sources, of recruxtment ?
~(2) employment exchange \(b)/ wamng hst o
,(e)—’l/bour unions S (d) educatlonal msntutlons

RSN #
s ‘ ““"'*"&‘:-: ‘.
AL iea s B8 AL

3. Write the following :

= ST

- Explain in detail the basis of promofion of emple ,
: (1) Explam the psychologlcal apgqrms
(ii) Descnbe measure of improve m,

 NB17



1tiple Chg;
(D

I ns. (any three out of four)
n c . .
e a new position is attained which is better than the

Pre e
~ent one i terms of pay, status and work responsibility.

' Demotion . (b)~ Dismissal
Transfer =td) Promotion

) Which One i Rt : {serinu
Ne 1s not included in performance appraiser = .

} Government (b) Consultants

o Peers —@) Subordinates
3) | ’ *

Which One is not a factor of morale ? |
—(a)y— Employee himself «(b)y—Attitude of management
S Objectives of company C(d)y—None of these
(4)  Which one is factor of demotion ?
e Reduced capacity of employee
—Ab)  Experience
&) To avoid misuse of funds
W None of these |

Write the following : |
(A) Explain different approaches of job design. 14
OR

(i) Discuss the special components of qu'ﬁlity' of work life. = | "

iy Explaii; orgaili'zatiohal‘su'ucture of qualityciecless .. :

(B) Multiple Ci'noice Questions. (any three 6ut gf fo_ur)_ ; e \ 3

q

) The quality circles were started in o

gy D oo R
| y Japan. .
§—USA. ey | . o
-( ' 7 | - PTOL

-117




steps should be taken to impr o{;e quali.t}’ o wgrk. l?fe.
(b) Career development

@ Allofthe above -

2

(@) Job safety
(c) Welfare meaSures,

(3). Scientific management approach has intfoﬂ“ced fcob desigmng by

/

() " Frederick Taylor (by Gilbreth

(©) Merrick ~ (d) Emerson
4 In which of the following job, worker hés been given a more than one tagks
In same work ? : 4 e .
(@ Job eﬁﬁchmént ' ) job eplax_’gement '
(© Job Totation it } (dj’ _Iob r@d¢§ig1_1 - |
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Commercial Communication - I
(New Course)

e : 2:30 Houry)
|
Write a deta; ’
‘L detailed note on the process-of Communication.
OR |
| Explain the Objectives of Communication,

Write short notes on any TWO of the following : -
| (1) E—Communication : Various Forms

| (2). ‘E-Meetings : Advantages and Limitations
(3) E-Commerce

(4) 'E-Governance

Draft an application for the post of an Assistant Sales Manager.
OR
Discuss some important tips-for facing interview. -

o T

I Do asdirected :
(A) Re-write the sentences using correct options :

(1) My little son likes to watch the channel.

(2) You will have a summer of five weeks.

(3) Doyou_ == re credit cards ?

(4) Thave deposited a

(5) The __— — of this city is very good.

. 6) Dr. Ambedkar wasthe

’{C-IIS

of T 10,000 into my account.

[Max. Marks : 70

17

17

17

19

(cartoon/ carton)
(vacation / vocation)
(except / accept)

(check / cheque)
(weather / whether)

architect of the Constitution of India.

(principal/ principle)




(B) Match the following :

A B
Severe - Qualified ;
Hoard Introduction
Merry ~ Harsh
Foreword 4 ~ Store iy
Eligible Happy | L FALSE:

(C) State Wwhether the following statements aré TRUE munication.
(1)  There is no need of a sender in the process of €0
(2) Listening is not important in commugication'
(3) E-communication saves time and money-
(4)  E-banking provides quick services to the customers
(D) Choose the correct option : L
- (1) There are
, (@) five (b) seven. ©
(2) Feedback is the} | response to the message
(@) receiver’s . (b) sender’s (¢©) none of these

-(3) ATMisapartof : s
(a) ' mass communication
(b) E-banking |
(c) non- governance

steps in the process of commumcatlon

(4) E-governance means .
(a) -economic govemance
(b) ele_ctromc governance

(c) electrify governance




